
 
The questions below may require that you use one or more of the following techniques: 
 
 u-substitution 
 
 integration by parts 
 
 trigonometric substitution 
 
 trigonometric identities 
 

trigonometric reduction formulae 
 

 
 
 

[1] ∫ + dxxx 22 1       [2] ∫ dxxx 64 sectan  

 
 
 

[3] ∫ dxxx 32 2arcsin      [4] ∫ −− dxxx 21)1(  

 
 
 

[5] ∫ dxxx 3)(ln       [6] ∫ − dxxx 23 4  

 
 
 

[7] ∫ − dxxxxx )4cos23sin( 2     [8] ∫ − dxxx 22 46  

 
 
 

[9] ∫
− dx
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     [10] ∫ − dxxe x 3cosh5  

 
 
 

[11] ∫ dxxx 75 cossin      [12] ∫ −−+ dxexx x23)21(  

 
 
 

[13] ∫ − dxxe x 2sin3      [14] ∫ dx
x
x 3)(ln

 

 
 
 
 
You may or may not need the following reduction formulae: 
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